NTERADHB(HEBERFH
4 —rh2RER—-5A—1:8— AE A
K4
1) ROFRELGESL, (4R X58=20)

1) 731+459—-968

2) 154+18x47

3) (987-579)+24

4) 48x28+56

5) 858—(71—32)%x22



NTERADHB(HEBERFH

49 —rhRER—58 —1:8— NBE A

K4

2) ROFEZELLEEL, (4RX5E=201)

1)

2)

3)

4)

5)

53+68+72

871+67x%x42

21+3476+-44

17x(19%23)

(28%x62+1391)+59
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49 —rhRER—58 —1:8—KEE A
K4
3) ROEHEZELGED, (ARX58E=20R)

1) 1371—692—349

2) 228-+(180+15)

3) 943+-41x67

4) 864+(37+71)

5) (602—483)+1302+42



NTERADHB(HEBERFH
49 —rh2RER—58 —1:8— KB A
K4
4) ROFEZELLGEL, (4RX5E=201)

1) 313—248+567

2) (1439+549)+71

3) 672+(7x8)

4) 14x31—256

5) 1053+(8%x9+9)
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4 —rh2RER—58 —1:8—&1E A

K4

5) ROFEZELLEL, (4RX5E=201)

1)

2)

3)

4)

5)

1411—(623+778)

(51+76) %89

912+(34—-15)

42%x13+78

(104—1692+47)+223



NTERADHB(HEBERFH

AF —hPZER—5A— 18

1) RE—ME (AR X58H)

1) 222 2) 1000 3) 17
2) KIE—MRE (4R x5H)

1) 193 2) 546 3) 100
3) KiEg—EE (4R x5%8)

1) 330 2) 19 3) 1541
4) KIE—RRE (4R x5H)

1) 632 2) 28 3) 12

5) &E—ME (4R X58)

1) 10 2) 11303 3) 48

A =
4) 24 5 0
A =

4) 7429 5) 53

A =
4) 8 5) 1560
A =
4) 178 5) 13
A =
4) 7 5) 291



